HPE_CIEF02-Zapfenempfindlichkeit Ymax(M)=1
I'F02,1M=B11XFo2,10)+B12VFo2, 1M +B13Zro2,1(A)
By 0,2105 0,8550 —0,0396\{570)
2,01 D50: ZTFOZ,I(A):22'47
Xro2,170,3483 Ygo2,1=0,3607
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HPE_CIEF02-Zapfenempfindlichkeit Yy, (A)=1
Meo2,10M)=B21X Foz, 1(A)+B22Y Foz, i(A)+B2aZro2,1(A)
By —0,4170 1,1772 0,0786 A\{545)
2,0 D50: ZI’ﬁFOZ'l()\):lB,?)‘l
Xro2,1=0,3483 Yro2,1=0,3607
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HPE_CIEF02-Zapfenempfindlichkeit Yax(A)=1
SF02,1M)=B31X Foz,1(A)+Bazy Foz, 1(A) +Baazroz, 1(N)
Bsj 0,000 0,000 0,5168 At-445)
2,01 D50: Z§F02,1()\):9'11
XF02,1=0,3483 y|:02,1=0,3607
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
I'F02,dN)=B11XFo2 {A)+B12YFo2 {N)+B13Zro2 {A)

By 0,2105 0,8550 -0,0396\{570)
10Ty 1 =513, 565, 623 D50: 3T oy {A)=102,64
Tro2dA1.m2=2.21, 4,44, 2,2
7,5
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
Meo2 dA)=B21XFo2 M) +B22Y Foz M) +Boazroz {A)

By -0,4170 11772 0,0786 A{545)
10fA y, =505, 545, 587 D50: £l g, {1)=83,78

Mro2.4M.m 2=2,28, 4,57, 2
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,,=100
Sr02,dN)=B31XFo2, dN)+B32Y Foz dA)+B3azro {A)

Bs 0,000 0,000 0,5168 A(-445)
10TAy 1, =426, 450, 478 D50: 55, {N)=41,65
Sro2.4M m =187, 3,76, 1,8
7,5
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HPE_CIEF02-Zapfenempfindlichkeit | j44(A)=1
Tro2,iM)=[B11XFo2,fA)*+B12Y Fo2, (M) +B1aZro2,i(M)]
Byj 0,2105 0,8559 —0,0396\{570)
200\ m =513, 565, 623 D50: T £p dA)=102,64
Trozdh m2=2.21, 4,44, 2,2
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HPE_CIEF02-Zapfenempfindlichkeit m4,(A)=1
Me2,(AN)=[B21X Fo2,n(A)+B22Y Foz, (M) +B23Zro2 o)
By -0,4170 1,1772° 0,0786 A¢545)
2.0y m 2505, 545, 587 D50: ST gy 4A)=83,78
rﬁpoz’i)\l’m’Q)ZZ,ZS, 457,28
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CIEF02-Normspektralwerte Ymax(\)=1
Xro2,1M)=A11l Fo2, 10 +A12ME2 1N +A135F02,1(N)
Agj 1,9473 -1,4144 0,3647 A {570)
2,0 D50: X Foz’l()\):21,14
Xro2,1=0,3483 Yr2,1=0,3607
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CIEFO02-Normspektralwerte Ymax(A)=1

YFo2,10)=A21l Fo2, 1) +A20M 2, 1(A)+A23SF02,1(A)
A 0,6899 0,3483 0,000 A¢545)
2,01 D50: 2y ,:02,1()\):21,89

XF02, 20,3483 Yo 10,3607
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CIEF02-Normspektralwerte Ymax(A\)=1
Zr02,1M=Az1l Fo2,1(N) +A32M 02, 1(A)+A33SF02,1(A)
Agj 0,000 0,000 1,9348 A{-445)
2,0 D50: ZZFOZ,l()‘):17164
Xro2,1=0,3483 Yro2,1=0,3607
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CIEFO02-Normspektralwerte Yg,,=100
Xro2 dN=A11l Fo2 dN)+A12ME02, dN)+A13SF02, N)

Ay 1,9473° -1,4144 0,3647 A(570)
10 D50: 5% g2, A)=96,58

XF02,50,3484 Ygp 50,3607
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CIEF02-Normspektralwerte Yg,,=100
Yro2,dN)=A21l Foz dA)+A20MF02 SN +A235F02,4N)

Ay 0,6899 0,3483 0,000 A£545)
10 D50: 5§ po2 A)=100,00
Xr02,50,3484 Yoy 50,3607
7,9
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CIEFO02-Normspektralwerte Yg,,=100

Zpo2 fN)=Az1l Fo2 N)+A3aM o2 A)+A33SF02, 4N
Ag 0,000 0,000 19348 A-445)

10 D50: 27 0z {1)=80,59
Xg02,5°0,3484 yrg2 50,3607
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CIEF02-Normspektralwerte Ymax(A\)=1
YF02,10)=A21! Foz, 1M +A2aMEo2, 10 +A23SF02,1(M)
Ay 0,6899 0,3483 0,000 A545)
2,0 D50: zy ,:02’1()\):21,89
Yo=Vroz ) Xr02,70.3483 Yoz, 170,3607
Y1=A21l Fo2,1)

Y2=A20ME02,1(A)
I e N
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CIEFO02-Normspektralwerte Ymax(A)=1
Yr02,10)=A21! Foz, 1N +A2aMFo2, 10 +A23SF02,1(N)
Apj 0,6899 0,3483 0,000 A¢545)
2,01 D50: 2y ,:02,1()\):21,89
Yo7Yro21\)  Xrop,170.3483 Yoy 70,3607
Y1=A21l F02,10)  @Yr02,1(Aa)/ME2,1(Aa)
Y2=A20ME02,18) 7 ab=Yr02,1Aa)/| Fo2,1(Aa)
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